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hnewer =211 of the L[ollowindg suoations by lrue (=}, Fulse I[F;, o¥

gpeertain (U1, and give a brief explanatian or proofl,

Areanion of ¥ oon X, nnuervations for
will mawe more sLlect on the
18 ~1loass Lo lbhe maan

1.(5%) In a leasl oguaras T'e
whicrkh ¥ is tar from 1CR medn
eatimalad slope than chasrvationsg for which X
value.

leads t= kia=zed vcuLimates

5 (5%] HelLeroscedagticily .n the eXrors
grandard €ryors.

ol the regressicn coefficients and thaix

3.18%) The corvelation betwean TWo wabiog which have the came

depominator iy always oiwacd upward,
lation in the ecrrors U Teads ro hilaced sstimates

d errora when Lhe regresaion BUAT LO0
leral QQuares.,

4 (5% Serial corre
ard biased atandax
yom+h¥+l 1g sstimsted hy ordinary

Forrelablon 8 not

E.45%7 [he Turbkin-Watson test for sarial
o5 A8 explanatory

applicakle if thexro aTe lagged dependont varlabkl
varia_es.

§.0(5%) In mulriple regression, A high vorrelation ‘n Lhe sanple
among Ene roygresscrs imultincllinearity? ‘mplies that the leask
smuarcy estimators Af the coefficients are biased.

7.(5%) Ir a sindltanesus edquaticn system, Fhe wore the number of

exoqonous variables the bpetter.

. H.[5%] ehe {ramer-Rao lower nesd is a lower linit for the varianoe
af any unkiased eatimabor providing we can specify the funel ion
form of the parenl distributian. End the Cramer-Raop lower bournd

can always be attained by o oprlaln unbiased cutlmator.
4_(8%) In the seTtrting ol dummy variables, we nave ro have tour dummy
wariakles in order b chedk the ceasonal effecla,
10, 18%) While tThe R-Byuarses in always pusitive, the ad jusbed
R-soquarea could De negatiwve.
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1. Let the national —income model be @
Y=+ i (C—Cousumption, Y=Income,! - Investment, |
Cea+rhlF -1, G=Covernment Expenditure, 1=Income Tax) 7
Fee+dl 'f-';'f
{a)ldentify the endogenous variahles. | o #‘!
(1) Write the model in malrix notation and test whether the coetficient matrix 15 5
nonsingular. o B ':
(¢)Solve the system by Gauss-Jodam reduyction method (¥ ,C.7T) e

(d)Find ¥, G, ﬁ%ru Interpret their meaning and determine thewr sign. (20%)

2.

For the matrix
n 2 2

A=17 0 2
22 0

(a) Write the characteristic equation and eigenvalues.
(b) Find the eigenvectors corresponding to the plgenvalues
(c) Diagonalize A by an orthogonal matrix. {20%)

3.

5.

b.

{dhil; j‘rr*"';d}dr ﬂ'jl]ir.]nxu‘.r

A consirmer has utility function
TS

And she faces the money-income constraint

2x, +3x, =100
And the time constraint

¥, ~4x, =80
Solve for her utility-maximizing consumption bundle and the values of the shadow
prices of the constraints. . {15%)

Given production function Q=LK

(a)How would you express algebraically the Isoquant [or the output of 2607
(b)yWrite out the slope of the Isoquant.

() Write out the profit function of the firm.

(d)Find the first and second order condition for the optimal combination of inputs.

(¢)Find the comparative-static derivatives '"%, ,ﬁ%ﬂ ,%x
(L=lable K=capital ¥ = price of the product, , = price of L, £, = price ol K (20% )

Solve {(f+ iy +(y—1")dr=0 {10%8)

Evaluale

(15%)
1] -J'p";
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| {R%&) Two groups of people are surveyed Tnoa sample of 50 drivers who are single
peaple, the diivers average 106 miles per week for pleasure mnps.  In a sample of g
65 married people, the drivers average 68 miles per week for pleasure tips. The l:-ill
sample slandard deviations are 15 and @ miles, respeefively At a =001, van i be [ 34§
concluded that single people do more driving for plessure trips than married | %
people? &
lm'
2 (89} A traffic safely commssioner believes the variation in the aumber af |i '

speeding fickets given on Freeway | is larger than the variation in tha number of
speeding tickels piven on Freeway 2, Ten weeks are randomly selected; Lhe
standard deviation of the number of tickets 13sued for Freeway 1 is 6.3, and the
standard devialion of the oumber of tickets issued for Freeway 2 is 2.8 Al
=005, can the commissioner conclude that the variance of speeding Uokels
issued oo Freeway 1 is greater than the variance of specding rickets issued on
Fraeway 2"

1, (8% A study iz done o see whether there is a relationship between a student’s
grade point avernge (GPA) and the number of bours the student studies per weck

The data are shown here Please predict the GPA of a student who studies 10 hours
A week

12 9 15 5 7 &
1510 4.0 1.7 3.7

Y

Hewrsg 1
_Gea 2

3.2

4 (1080 Students mie randimly assigned to three reading classes. Each class is aght
by & different method At the end of the course, a comprehensive reading examination
is given, and the results are shuw here. AL o = 0.05, is there significant evidence that
different teaching method influencing students’ reading performance”

Class A Class B Cliss €

K7 a2 w7
02 T8 0d
f:1 41 a3
i3 65 2
47 a3 1
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5 (8%) A mohile phone manufazturer claims that 63% of the college students have
thair mwn molbile phones. A researcher wishes to test the claim and selects a random
sample of B0 college students. She finds thal 37 have their own mobile phoncs Al
i — 003, should the claim be rejected!

0. (8%} A magazine article stated thal ihe average age of men who wore peiling
divarced for the first time was less than 40 years. A researcher decided o rest this
theory at o — 0025, She selectad a sample of 20 men who were recently divorced
and found that the average ape was 38.6 years. The standard deviation of the sample
was 4 years, [5 there enough evidence to supparl the clatn that the average age 18 less

than 40 on the basis of the sample? Assume [l the variable is approximately
narimally distributad.
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